Electrons: Electron Configuration, day 2
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Noble Gases

¢ Give the electron configuration for
elements up to 54

® Recognize an element from its electron
configuration

¢ Use the 'Noble Gas' configuration

® Use the PT shortcut




1. How many electrons fit into each of these orbitals?
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3. Write the electron configuration for Chlorine.
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Noble Gas Configuration (time saver)

1. Find the element on the PT.
2. Find the previous Noble Gas, put it in brackets.
3. List everything in its row, including the element.




Ex: _Chlorine Full Electron Configuration
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Chlorine Noble Gas Configuration (Optional)
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Periodic Table Blocks
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Periodic Table
www.webelements.com







